
Dry Electric Towel Warmer Fitting Instructions

Before assembly please read these instructions carefully and retain for future reference.

The Product
This Towel Warmer is designed to work at an uncovered temperature of approximately 50ºC and a covered 
temperature of 60ºC to 65ºC. The product is suitable for use in Zone 2 bathrooms and kitchens and due to the low 
wattage is very economical to run. 

Installation:   Hanging the Towel Warmer
Ensure there is no electrical wiring, telephone cables, water pipes, or gas pipes beneath the surface where you 
intend to locate the Towel Warmer. Ensure also that the wall is strong enough to hold the Towel Warmer and 
that the desired position for the Towel Warmer is close enough so that the power cable will reach the power 
supply spur.

WARNING: In order to avoid a hazard for very young children, this appliance must be installed so that the 
lowest heated rail is at least 600mm above the floor in accordance with (IEC 60335-2-43/A1:2006)

Please check that you have all the wall bracket fitting components as 
detailed below and in Fig 1 

4 x wall plugs 4 x M8 bolts
4 x M4.5x 40 screws    4 x brackets legs
4 x bracket inserts        4 x M5 grub screws
1 x M8 Allen key          1 x M5 Allen key      

Step 1
Assemble the bracket legs to the towel rail using the M8 bolts. Use 
the larger Allen M8 key to tighten. (Fig 2)

Step 2
Place the towel warmer on the wall in the desired installation position 
and then draw around the bracket legs with a pencil. It is 
recommended to use a spirit level to ensure the rail is level. Remove 
the rail and drill the holes in the center of the marked bracket 
positions and insert the plastic wall plugs. (Fig 3)

(Fig 1)

(Fig 2)

(Fig 3)Step 3
Screw the wall plates onto the wall using the long M4.5x 40 screws. (Fig 4)

Step 4
Now slide the towel rail bracket legs over the wall plates and using the 
smaller M5 Allen key secure in position with the grub screws. (Fig 5)

Electrical Connection

The Electrical Connection of the Towel Warmer to the power supply should be carried out by a qualified electrician in 
accordance with current Local and National Electrical Installation Regulations.

When fitting in a Toilet or Bathroom the electrical connection must be via a 3Amp fused spur protected by a 30mA RCD. 
For further information see Fig 6 below

Name Heated Towel Warmer

Model ECO1-5 IP IPX4
Power 100W Size 500*720*100mm
Supply 220 - 240v           

50 - 60HZ

(Fig 6)

(Fig 4)

(Fig 5)



Safety Precautions:
• This product is designed to operate at 230V.
• Ensure all electrical power is switched off completely when any electrical work is being completed on the Towel Warmer. 
• All electrical wiring work should be done by a qualified electrician. 
• If the supply cord is damaged, this must be replaced by the manufacturer, its service agent or similarly a qualified person in 

order to avoid hazard.
• When moving the product ensure the Towel Warmer is carried by the metal frame and not the electric cable.   
• The appliance is not to be used by children or persons with reduced sensory or mental capabilities, or lack of experience or 

knowledge, unless they have been given supervision or instruction.
• Children must not play with this appliance.

Cleaning
• Any hard scrubbing or scratching to the product surface will result in damage to the surface of the Towel Warmer. The use of 

any cleaning products which contain acid or corrosive agents will also damage this product. For best results use a cream 
cleaner.

• Cleaning should be done using a damp soft cloth.

End of Life Disposal               Recycle
Products with the crossed out wheelie bin symbol cannot be disposed of as household waste. Old electrical 
and electronic equipment must be recycled at a facility capable of handling these products and their waste 
by-products. If you are purchasing replacement equipment your retailer may offer a take back scheme, or be 
able to give details of the nearest approver authorised treatment facility. Proper recycling and waste 
disposal will help conserve resources while preventing detrimental effects on our health and the 
environment

Manufacturer’s Guarantee
WHAT THE GUARANTEE COVERS
•This guarantee covers defects in manufacture, materials or workmanship.
•This product is supplied for installation in homes.
•For a period of 5 years from the date of purchase our only obligation is to replace the defective non-electrical         components of products at our 
discretion. Replaced products become our property and can only be disposed of with our authorisation.
•Electrical elements are guaranteed for 24 months from the date of purchase.
•Please inspect your product on receipt. In the unlikely event a product problem is noted prior to installation, you must refer back to us within 30 
days. In the event of shipping damage you must refer back within 14 days. We cannot accept any claim outside this timeframe.
•Any claim made to us must be in writing and accompanied by a proof of payment showing the date of purchase.
•Should the product be deemed to be unsuitable through no fault of the manufacturer, the purchaser can return the product for a refund within 28 
days, however the purchaser is responsible for the safe return of the product and any shipping cost.

WHAT THE GUARANTEE DOES NOT COVER
•General wear and tear.
•Damage arising from improper use or installation.
•Damage resulting from failure to maintain the product in accordance with the cleaning and care instructions quoted below.
•Damage arising due to connecting the product to an electrical supply not corresponding with the name plate specifications, or due to power surges.
•Damage arising from installation not in accordance with electrical or plumbing codes, or use of accessories not approved by the manufacturer.
•No liability is accepted for any injury, loss of income, consequential damage to other household fixtures, fittings or furnishings arising from any claim, 
even if attached to the product.
•No liability is accepted for any labour or associated costs that may be incurred in the removal or installation of the product.
•Any freight charges, damages due to loss or damage in transit.
•Our obligation under this warranty is to the original purchaser only and may not be transferred if the product is sold to another party.
•As we are continually improving and developing our ranges we may not be able to provide an identical replacement for a defective product through 
the warranty period. Where an identical product is not available, we will supply a product of a value and such features as we consider appropriate in 
the circumstances.
•The replacement product will be covered under this warranty only for the balance of the original warranty period.
•This warranty does not affect your statutory rights. If any of the provisions above are contrary to any relevant legislation, then that provision shall be 
deemed to be excluded from the warranty and the rest of the provisions will apply.
This product should only be installed by a qualified professional. Keep this warranty sheet along with your sales receipt together for future reference 
(electronic sales receipt acceptable). You must provide proof of payment to invoke this warranty.  If you have any warranty claims contact the retailer 
you purchased this item from. 

Made in China by Manissa Ltd

Operating instructions
The towel rail is switched ON and OFF by using pressing the switch on the bottom of the left hand upright 
“ 0 ” = OFF
“ I ” = ON


